EARAROBEEIERT — 2 N— IBISH —F

2019564280 (&) 5EIA#HS5H

R REXA

5

EZS

‘ [RERBE] — | & (A) 1000M FHE

[A&4£] 17 :2,900,000 @ 23 :1,160,000 @ 3 & :725,000 § 4 7% :435,000 @ . 5 7 :290,000 M
B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N - = B ] : - - SelLBsTE
118lg|¥=237714 - 2 54%7@'@ 1.(0_0).8 2-1 37.5 1 (452) Eﬁg;ﬁ (/1vE)
Lox4m B:¥3379x)-X HET77— L
I _= 4 2 | B 1:00.9 1-2 37.6| — 2 476 | EER (KH)
2 3 Arh—X—-F1 54.0 (3/4) (=) %)HEH?’E
LHIRT TR BITT—XbS47 XE ES
NN EHEZ : - - EMETT (K3
3 4| L—ZF LY it 2 ZE= 1.(062>.1 3-3 38.0 3 (459) ;Eﬂg
ST ART =Y F— BixH-O-F kel
5 HEIBThIR ; - - SisEE (KH)
4 NEY B2 e 1.(063).4 5-4 38.3 4 (4i6) LT
Rihxexy B rIHINYE— WA 517
.. FEZ :03. - . - FH 5z (KFH)
50111 Y4 Sd—T41)— 4 2 o 1(023)8 7-7 38.1 6 (4E3; it
R:T7—=U74—X B:Ly RTq7—3 AHI Ty —L
=g fo2 | REE— 1:03.8 6-6 38.7| — 7 428 | FEAE (KH)
6177 Iyo2> 54.0 (7 E) (=) E A
R:Ly RRIN—F B:F44=-7EQ— EEE RS e
Cas g 7 ft o2 | PHEE 1:05.4 4-4 40.5| — 8 442 | FEHIABR (K3#)
71515 NTAH7A-X 54.0 @) (=) (%) EBZ2RE
LiXL YA BiHL—ZF Pl e
: == . N _ A (K3
8 NEIEEPE D i 2 R 1.(066).7 8-8 39.2 5 (ztis) Hf}%ﬁ
Rix>rin4O— B:xrarqo—+ SR RE
® I —F—@EBIERL
13—7—
23— —
BEE 3,8,4,5,6,7,1,2
43—+ — 8,3,4,(5,6),7,1,2
[ RN
B OB 8 1704 714K 3-8 120H B E 3-8 170H &R 3-4-8 300M
8 B 8 100M 4-8 170 B E 8-3 330 JEH 8-3-4 910M
3 1104 3-4 240M
4 140M

ABICOVWTRDTEEERROODE. TR LIV,




